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Geometry 21: Extra Practice with 1.2-1.5

Use the figure at the right for Exercises 1-4. ?\LM P\% ¢ /P[/M\& (QK-( ( Ig PI‘}"‘*’/B‘K)
/ — )

1. Give three different names for the plane. p\CWL Q& ’“

N o R /
2. What are two other names for 4AB? f (:5 , A /
3. Name two opposite rays in the diagram. fy Y
. « A

4, What is the intersection of the two planes? E‘Q_}
e

Use the figure at the right for Exercises 5-7. Name each of the following.

5. the point on ﬁthatislunitfromﬁ‘w“l( & ‘ A 8 ¢ D _ £E_F
L

. - -5 =4 =3 =2 -3
6. two points that are 3 units from E ?owxf H ed me 2

7. the coordinate of the midpoint of AG poink ) —

Use the figure at the right for Exercises 8-11. Fe
8. What are two other names for £17 £ EC(C ﬁﬂf‘i < FCE D
9. If m£DCF =90, what is mZDCE? C"O —y < I

10, i msDCF =90, mADCE =3x + 12, and mZFCE = 4x + 1, %v |

M. M msDCE =3x" +4x +20, mZECF = x* +3x+53, X

A2+t = A0
Ixr 13 =90

4 - = 17T
meDCE =’8,§,_m3f TR value OfX. . 2y 2D4x 2+ 3 ¢ §3 = 5 R e ~fs=o x* i
(x5 % A T LR NN
Determine whether the Tollowing statemenis are always, sometimes, or never trie. (Note: these are tricky! 0T
Think about your answers!!) \} Yy @ /
X }‘l‘x "S)( EZX
. i PP 7.8
12. Through any three points, there exists exactly one line. (3 3 -
Yx =5 X

13. If two distinct lines intersect, their intersection is a point. OLU)%

14. A line contains at least two points. aluu wis ‘
n

15, Throwgh any three collinear points, there is exactly one plane. nQ\/@( ( a,[,waxjs lWRW'HL pLW\

=

16. If % = %, find the indicated values. a)x= 3% b} RS = 9] D)
[
22049 o dy— |5 . ¢) ST= "’7 / d) RT= {39"
" ST Bt s glagea) = S(xey)
e-1S 7 g red = 20x =78 x=a3
(3§ = (x
Suppose § is between T and ¥, R is between S and T, and Tis hotweon Rand @, ¥ QV=23, 0T = 8, and
TR =RS =SV, ' X x
17, Make a sketch of the information provid = e D U IS M
. the information provided. - a
Make a sketch of the inforin I ed @ L“‘:%S/L ..M#V Doz 15

18. Find each of the following: 33 X=5

D RS=__ 5 b) 0s=_ | & o 1s= [0 atv=_15




Use the figure at the right for Exercises 20 and 21,

20. Given: ST=3x+3and 70/ =2x+ 9.

A ¢ 3 x
a. What is the value of ST?(Q) |

. RN . 1 (
b. What is the value of TU7 21 B ? ' ? ' ﬁr
X= (o
21, Given: ST=x +3 and TU = 4x - 6. Xt3eqy-{p
a, What is the value of ST? b. What is the value of SU?

‘ 7= 3«
@ €D
[EY

22. Z1and 22 form a straight angle. If m2 ‘z 5x +U ms % 4x%jmd mZl and m22.

(Xt 2bx-)= O .

\ ’/,2,/ Sxtelll v Yx+ Sle =160
" - e A s A . . .
SRR Bx? #4x + ((§ > (1§D
Find the valusls] of the variahlalsi. St s -12 = O
14,

15

42\;“{0 = {10 g%%igj-»)_
CGCED
X = 3% 2 ” Sa =
In Exercises 12 and 20, assume that 24 s suppiam&ntm} o 28 dgz‘
gt eomplementary to 2L Deterrmins s A m B, and mes L, X —~

—180 -
19, mAA = [z 100 mlR = (120 4 1, ma T o= (x4 27 Ko H2pe L O F 0t S0 T0

X= 13
20, med = PR A TP meB =

2lx — 257 mea = (e~ 11)Y @
sze%&\x 152150 g 2.5 T8 1L 290/ - £

In the figure below (not drawn to scale), AC and BD blsect each other. For the following problems, find all possible values for
x and find the measure(s) of each segment.

1. BM = 3x* - 7x+ 10 and MD= 3" + 6x- 10 B
(o]
3% w10 = x*+(ox -0 "
AX 3y ¢ Q0= 0

(x-$)(ox-3) 7 0

v - 5
x=1 %

BM =MD =30
2. MC=2(x~3)and AC = 3(x+5) “gM=MD > §h. 28
AAx-l) = 3x S
Yy-12 = IxHIS MC=AC<9
Y= AC=9 .
3. In the figure below (not drawn to scale), GI bisects Z HGF , mZ FGI = (5x* + 9x - 20)°, and
ml HGI = (4x" + 5x+ 1)°. L{K?’fs\y W oz sz f'ﬁlX"’Z’O ) H

D= X?""Lh( -2 -~
O (X-3 Yx+7) 6(




